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1 2 3 4 5 6 7 8 e) 10
000|CR—1|CR—2|CR—4|CR—B|CR—6|CR—7|CR—8|CR—9|ER—1|ER—2
9:15|ck—10|CiR—11|Ck—12|CiR—13|[Ck—14|Ck—15|CR—16|CR—17|ER—3|ER—14
9:30|cik—18|Cik—19|Ck—20|Ck—21|Cch—22|Ch—23|Ccr—24|Cik—25|ER—5|ER—6
0:45|ck—26|CikR—27|Cik—28|Cik—29|C$k—30|C$k—31|Cik—32|Ck—33|ER—7|E®—8
10:00|cikR—34|CR—3|CHl—1|CHA—2|CEt—3|CHl—5|C—6|CHA—7|EER—1|EK—2
10:15| CEBki— 8 |CBt—9|c—10|Cck—11|CBE—12|CBk—13|CBi—14|CBi—15|EBR—3|EBR— 4
10:30|c—16|Ch—17|CB—18|CB—19|CIR—4|DiR—1|DIR—2|DR—I3|EXN—5|EBK—6
10:45|DR—4|DR—5|DR—6|DR—7|DR—8|DR—9|DR—10|DXA—1|ER—9Q|ER—10
11:000 DEt— 2| DEBA—3|D— 4 |DEX—5|DN— 6 |DA— 7 |ABR—1|AKR—1|ER—11|ER—12
11:15| AxiR—2|AXR—3|A%R—4|BR—1|BR—2|BiR—3|BR— 4 B:R—5|ER— 7 |E— 8
11:30Bik—6|Bik—7|Bik—8|BEk— 1/ BN—2|BBA—3|B—4|ck—35|EBR— 9 |EEE—10
11:45|Cik—36|CiR—37|CiR—38|CiR—39|Cik—40|Ck—41|Ck—42|CiR—4 3|EiR—13|ER—14
12:00|CiR—44|CiR—45|CR—46|CiR—47|CiR—48|CiR—49|CR—50|CHH—20|EK—11|EE—12
12:15|CBi—2 1 |C—22|CBi—23|CBi—24|CK—25|CBi—26|CHH—27|DR—11|EiR—1 5| ER—3R
12:30|Dik—12|Dik—13|DiR—14|DR—15|Dik—16|Dik—17|Dik—18|DikR—19|EBK—13
12:45|Dik—20|DRk—2 1|DiR—22|Dik—23|DR—24|Dik—25|DRk—26|DEX— 8
13:00| DEk— 9 |DEE—10|DE—11|DK—12|DB—13|DK—14|DB—15|ABR—2
13:15| ABR— 3 | ABR—4|ABR—5|AKR—5|AKR—6|ALXR—7|ALXR—8|BR—9
13:30|Bik—10|Bk—11|Bir—12|BEN—5|BI—6|CR—51|C}k—52|C—53
13:45|Cik—54|CiR—55|CiR—56|Cik—57|CiR—58|CHt—28|CEK—29|CBK—30
14:00{C#—3 1|Dik—27|Dik—28|Dik—29|D$k—30|Dk—31|Dk—32|Dk—3 3
14:15/|DiR— 3 4|DEX—16|D&K—17|DK—18|DK—19|ABR—6|ABR—7|ALR—9
14:30| A%i%—10|Bk—13|BjR—14|BE{— 7 |CiR—59|CR—60|CR—61|CRk—6 2
14:45|cBk—3 2|CcBk—3 3|Dik—35|Dik—36|Dik—3 7|Dk—38|DExk—20|DBK—2 1
15:00| ABR—8 | ABR—3R|AZKR—11|AZR-IR|BR—15|BR—BR|DR—39|DR—40
15:15| D —22|CiR— 6 3|CiR—64|CHK—34|DiR—41|DHR—3R
15:30 CR—65|CHR—3R
15:45




